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Sub questions

Question Number : 1 Question Id : 6863403840 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 3 Question Id : 6863403842 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 4 Question Id : 6863403843 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 5 Question Id : 6863403844 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Id : 6863403839 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 6863403840 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 2 Question Id : 6863403841 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 3 Question Id : 6863403842 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 4 Question Id : 6863403843 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 5 Question Id : 6863403844 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Sub-Section Number : 2
Sub-Section Id : 686340116
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 6863403845 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 6 Question Id : 6863403845 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 7 Question Id : 6863403846 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 7 Question Id : 6863403846 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 8 Question Id : 6863403847 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 8 Question Id : 6863403847 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 9 Question Id : 6863403848 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 1 gt 11 9 faH Sife
1@ | gEto dEem

A Y I [d49

B o I [as=R

C. [R i CER

D. [Hi&f gy

frafafad fomedl & @ 98t SR 1 Iga iU -
1. A-III, B-I1, C-IV, D-I
2. A-L B-IV. C-II, D-III
3. A-L, B-II, C-III, D-IV
4. A-III, B-IV, C-IL, D-I

Options :
68634015233. 1



68634015234. 2
68634015235.3
68634015236. 4

Question Number : 9 Question Id : 6863403848 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 10 Question Id : 6863403849 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 10 Question Id : 6863403849 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 11 Question Id : 6863403850 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 11 Question Id : 6863403850 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 12 Question Id : 6863403851 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 12 Question Id : 6863403851 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 13 Question Id : 6863403852 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 13 Question Id : 6863403852 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 14 Question Id : 6863403853 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 14 Question Id : 6863403853 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 6863403854 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 6863403854 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ATUIBUS I TG B Bl 30 GAd o gdd g1 SiH 20 R v iy & fpar siR S a1 B A
m@;ﬁmmﬁ 3l 9 B D 20 &7 H QB E711 A 3Bl 38 R DM B fbd fad F w
IHdl g2

1. 60

[
[
EEY

L¥ ]
[ ]
o

4. 40

Options :

68634015257. 1
68634015258. 2
68634015259. 3
68634015260. 4

Question Number : 16 Question Id : 6863403855 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 16 Question Id : 6863403855 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= g7t 3epfcl &1 Q1 B & A UEl faesed @1 994 Bifore?

O— | <O
1.
3. O—
4| O—>
Options :

68634015261. 1
68634015262. 2
68634015263. 3
68634015264. 4

Question Number : 17 Question Id : 6863403856 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 17 Question Id : 6863403856 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 18 Question Id : 6863403857 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 18 Question Id : 6863403857 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 19 Question Id : 6863403858 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634015274. 2
68634015275. 3
68634015276. 4

[ ]

Question Number : 19 Question Id : 6863403858 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I B Tl a9 76 IR 14X P AEA . 76 98 A0 Wpd Ugadl ¢ | T8 99 I & R @A EH &
1< <1 §R 20 Aod & R 9% 91 T d Tg<-  Ted a1 gedl 2| 99 o 931 & WR P - a1 &9
1Y ¥ a1 g% Ui 1 a8 g fomn & 9 o

1.d
2. gfgyq

3.3t

4, GI&T

Options :

68634015273. 1
68634015274. 2
68634015275. 3
68634015276. 4

Question Number : 20 Question Id : 6863403859 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



afe T Tl 8- T B AT A 111 1 UHHE T 1 T I BT S 3 11 ey 82
1. foar

WTg

 Hed bl

[ ]

L]

4 i
Options :
68634015277. 1
68634015278. 2

68634015279. 3
68634015280. 4

Question Number : 20 Question Id : 6863403859 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A Y9 Hgdl 8- AT B OTa1 I 1d1 1 THTE T 31 T 397 &1 A d 3 o1 ey 82
1. foar
TS
HeRAq sipd

| )

[#%]

4 i
Options :
68634015277. 1
68634015278. 2

68634015279. 3
68634015280. 4

Question Number : 21 Question Id : 6863403860 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HIgTe 719 A0S & SR R g8 9 gl
1. SUTSd AT
2. furge srgaifyare
3. Yferg srgHiiYgiREe
4. foygd WiaAs S

Options :




68634015281. 1
68634015282. 2
68634015283. 3
68634015284. 4

Question Number : 21 Question Id : 6863403860 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HigTel T AEET & SR Ramd g5 19 Gl
. SUTR TSI
frursa sreaifmre
fer srgHimiiEe
fhuEa WRisEEs

Options :

68634015281. 1
68634015282. 2
68634015283. 3
68634015284. 4

—

| B

(%]

FEs

Question Number : 22 Question Id : 6863403861 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 1 1 gl 11 9 fiar Sifen

W=l 1 (G o oI & =0 eIt I (UETe)

A [GH I [=m

B. [WalY (FH-UId) 1L |3y

C. [HYHMGI I1I. [dsh

D [Fg IV. [T &
fafafad faedl & 9 98l SR &1 994 S

1. A-II. B-IV. C-III. D-I

|

CA-TV, B-II, C-III. D-I
3. A-IL. B-IV, C-1, D-III
4. A-1. B-II. C-III, D-IV

Options :

68634015285. 1
68634015286. 2
68634015287. 3
68634015288. 4



Question Number : 22 Question Id : 6863403861 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 9 o Sifey

= 1 (F5 & wiias & =@x0n)  gal 11 (W)

A [HH I [T

B. [UalY @H-UITWD) 1L [ary

C. [AyHM™Ga 11 [dsh

D. [5d IV. [&1T% &
frafatad fowel 5 9 96t S| &1 994 DI -

1. A-II. B-IV. C-III. D-I

| o

CA-TV, B-IL C-IIIL D-I
3. A-ILL B-IV. C-1. D-III
4. A-1. B-11. C-II., D-IV

Options :

68634015285. 1

68634015286. 2

68634015287.3
68634015288. 4

Question Number : 23 Question Id : 6863403862 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Frafafad & ¥ oF YR e TR (315, 30.0) 31 9uH Tl e 91 87
1. 4l BHiBR
TR
R R A
 HUig Hayd

| )

[FN]

=Y

Options :

68634015289. 1
68634015290. 2
68634015291. 3
68634015292. 4

Question Number : 23 Question Id : 6863403862 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFrafafad o 9 o yRdg i ThikuRE (31%.51.9) B uyd ufge s 9+ 82
1. €0 SR

IR PE
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Options :

68634015289. 1
68634015290. 2
68634015291. 3
68634015292. 4

Question Number : 24 Question Id : 6863403863 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CIEARAICAGUES

BY I TR Pifcl TP AT 5. [T 1968 & TR g5 NYUGHD iG BT auH B P (o AHIG:
TRIeRd [ dT ST & |

BYT I1: T §B1gX Il 1 BRd Pifd SRey &1 o)

SWRIdd HYF & i J, 1< 3T MU fawedi & I Fel 3ok &1 99 Difee:
1. BYFI R I GHI T §

HY 1 IR 11 ST ST §

PYT I I 8. Alh YT I T &

| )

Lag

DY YW B, AfhI BY 1 Tl ©

=

Options :

68634015293. 1
68634015294. 2
68634015295. 3
68634015296. 4

Question Number : 24 Question Id : 6863403863 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



CIEARAICAGUES

BY I TR Pifcl TP AT 5. [T 1968 & TR g5 NYUGHD iG BT auH B P (o AHIG:
TRIeRd [ dT ST & |

DY I1: T 951G Vel 4 TR pifd 3R P of|

SWRIFd BYF & 3Tl H, =1 4T T fddbedi & I Hel Gov &1 99 Difoie:
1 FYI ARG T &

HYA 1 3R 11 ST SR §

PYTI g . AP PYT 1 T &

[

L]

4. BYT I 8, AfpT PUTII T &

Options :

68634015293. 1
68634015294. 2
68634015295. 3
68634015296. 4

Question Number : 25 Question Id : 6863403864 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

mﬁﬁaﬁ%ﬂﬁﬂaﬁﬁﬁmﬁﬁ@ﬁw S5 YL DT S Yefid B i Widd
e PRl 82

 HT®E-51T

—

L]
1
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| )
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Options :

68634015297. 1
68634015298. 2
68634015299. 3
68634015300. 4

Question Number : 25 Question Id : 6863403864 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e HHE P19 7 Bl W61 &l dl FHfeiad 7 9 Sl siwe APUid Bl S WeHud B i e

UG Rl 87

| Gﬂ%ﬁ- 511

: &ﬂt_%a-lﬁl

: \ﬂﬂ%ﬁ-lﬁ
4. C‘Hﬂ%ﬁdiﬁ

Options :

68634015297. 1

68634015298. 2

68634015299. 3
68634015300. 4

—

[

L]

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

Part B: Public Health

68634078
2

Online
Mandatory
75

75

300

Yes

0

1
686340117
Yes

null

Question Number : 26 Question Id : 6863403865 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Most effective sterilizing agent 1s:-

1. Dettol

b2

. Boiling

3. Hot and oven

4. Stream under pressure
Options :
68634015301. 1

68634015302. 2
68634015303. 3



68634015304. 4

Question Number : 26 Question Id : 6863403865 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a4 yyidt fadewms sifieds o--
1. f&aa

| )

R AIEIREIRE)
T a1y 3

4. g4 & e Tig

[#%]

Options :

68634015301. 1
68634015302. 2
68634015303. 3
68634015304. 4

Question Number : 27 Question Id : 6863403866 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTIT
A |Salmonella Typhi | I. |Amoebiasis
B. [E. Coli Il |Guineaworm Diseasg
C. [Nematode perasites] IT1. [Typhoid fever
D HIV IV |AIDS

Choose the correct answer from the options given below:

1. A-I. B-II., C-III. D-IV

| )

CA-ILL B-1L C-I1, D-IV
3. A-IV. B-IIL. C-II. D-I
4. A-IT, B-1. C-IV, D-III

Options :

68634015305. 1
68634015306. 2
68634015307. 3
68634015308. 4

Question Number : 27 Question Id : 6863403866 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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. [EeEEa st Lo [EEREEy

5. dIch 1L R i T
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frafatad fowel 5 9 96t S| &1 994 DI -

1. A-I. B-II. C-III. D-IV

o|o]w]s

| o

CA-IL B-LL G-I D-IV
3. A-IV. B-111. C-II. D-I
4. A-II. B-1. C-TV. D-III

Options :

68634015305. 1

68634015306. 2

68634015307. 3
68634015308. 4

Question Number : 28 Question Id : 6863403867 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Cold chain refers to:-

1. Manufacturing vaccine in cold places

| B

. Chain of cold storage arcas
3. Storage and transport of vaccine at low temperature

4. Cold chain outlets

Options :

68634015309. 1
68634015310. 2
68634015311. 3
68634015312. 4

Question Number : 28 Question Id : 6863403867 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3T Een 9 S § -
1. 3 T IR et Fmior
it USRI &4 DI #f@a

[ ]

3. 3 I TR Il USRUT 3R givded

e

QI 4EaT 3T3ceicy

Options :

68634015309. 1
68634015310. 2
68634015311. 3
68634015312. 4

Question Number : 29 Question Id : 6863403868 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The two or more living organisms living together for mutual benefit is known as

1. Parasitism

[

. Commensalism

L% ]

. Symbiosis

4. Opportunism
Options :
68634015313. 1
68634015314. 2

68634015315. 3
68634015316. 4

Question Number : 29 Question Id : 6863403868 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
URER ATH o feTU W1y 35 aTel &1 a1 $Hi%e Sildi Pl Sl il o
1. TRGiadr
R RAIEGH
R EEICE]
4, HTER ACl

Options :

| ]

[#5]



68634015313. 1
68634015314. 2
68634015315. 3
68634015316. 4

Question Number : 30 Question Id : 6863403869 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The world's first antibiotic is

1. streptomycin

| )

. Tetracycline
3. Penicillin
4. Kanamycin
Options :
68634015317. 1
68634015318. 2

68634015319.3
68634015320. 4

Question Number : 30 Question Id : 6863403869 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fasy &1 9o ufoifae
1. LPHERE

]

4. BEHEMRE

Options :

68634015317. 1
68634015318. 2
68634015319. 3
68634015320. 4

Question Number : 31 Question Id : 6863403870 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which anti body 1s a marker of allergic reactions in human beings

1.1gG

[

e
3. 1gA
4. IgE
Options :
68634015321. 1
68634015322. 2

68634015323. 3
68634015324. 4

Question Number : 31 Question Id : 6863403870 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S I AP RS TG § Uasau wfafdmarsi & o 3@ 3

1.1gG
2. IeM
3.I¢A
4.1gE

Options :

68634015321. 1

68634015322.2

68634015323.3
68634015324. 4

Question Number : 32 Question Id : 6863403871 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Western blotting 1s the technique used for detecting

1.ENA

[ B

. DNA

3. Proteins

=

. Phospholipids

Options :
68634015325. 1
68634015326. 2



68634015327.3
68634015328. 4

Question Number : 32 Question Id : 6863403871 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ufyef seiffen ferwes! g ueaM & i vge a1 o
1. ANUAY
2. 31T
3. WA
4. BrEBIYSH

Options :

68634015325. 1
68634015326. 2
68634015327. 3
68634015328. 4

Question Number : 33 Question Id : 6863403872 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The key regulatory enzyme of glycolysis 18

1. Phosphofructokinase-1

| B

. Aldolase

LIPS ]

. Inolase

e

. Phosphoglycerate kinase

Options :

68634015329. 1
68634015330. 2
68634015331. 3
68634015332. 4

Question Number : 33 Question Id : 6863403872 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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[

L]
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Options :

68634015329. 1
68634015330. 2
68634015331. 3
68634015332. 4

Question Number : 34 Question Id : 6863403873 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The inventor of Microscope is

1. Galileo

[ )

. Antony van Leeuwenhoek
3. Louis Pasteur

4. Robert Koch

Options :

68634015333. 1
68634015334. 2
68634015335. 3
68634015336. 4

Question Number : 34 Question Id : 6863403873 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Yeaa & SHTHRS &
1. fifereitan

RUICi G IERUGEES

AGEREIER

4. G DI

Options :
68634015333. 1

| )

[#5]



68634015334. 2
68634015335.3
68634015336. 4

Question Number : 35 Question Id : 6863403874 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Ion-exchange chromatography separates the proteins based on

1. Molecular weight

[

. Size and shape
3. Charge
4. Structure
Options :
68634015337. 1
68634015338. 2

68634015339. 3
68634015340. 4

Question Number : 35 Question Id : 6863403874 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HTEA-FATG PITCATS! (@1-av f45) ford IR Serid WeH| i e Pl ¢
1. 3{TUas YR
PR 3R 3Y

3, a9

[

4

Options :

68634015337. 1
68634015338. 2
68634015339. 3
68634015340. 4

Question Number : 36 Question Id : 6863403875 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which protein of SARS-COV-2 interacts with ACE-2 receptor of human host

1. ACE-1

[

. Spike Protein
3. Membrane Protein
4. Nucleocapsid Protein

Options :

68634015341. 1
68634015342. 2
68634015343. 3
68634015344. 4

Question Number : 36 Question Id : 6863403875 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SARS-COV-2 P B9 Wi AFG B9a & ACE-2 REpR 4 siafhar o=ars

1. ACE-1

2. WG ieH
3. A UIdH

4. TR A

Options :

68634015341. 1
68634015342. 2
68634015343. 3
68634015344. 4

Question Number : 37 Question Id : 6863403876 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Social insurance was introduced by:-
1. Bismark
2. Dr. watson
3. Baba Amte

4. Martin Luther King

Options :
68634015345. 1



68634015346. 2
68634015347.3
68634015348. 4

Question Number : 37 Question Id : 6863403876 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
raTfore T fbder gRTURY fdar o-
1. fawrd
2. 81 areEA
3. 916 ST
4. [ R (b1

Options :

68634015345. 1
68634015346. 2
68634015347. 3
68634015348. 4

Question Number : 38 Question Id : 6863403877 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Exclusive breastfeeding is to provide only the mothers milk to the newborn upto 1 year of age.
Statement IT: Kangaroo mother care is a technique to reduce hypothermia among newborns and have
reduction of neonatal mortality.

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true
2. Both Statement I and Statement IT are false
3. Statement I 1s correct but Statement 11 is false

4. Statement I is incorrect but Statement II 1s true

Options :

68634015349. 1
68634015350. 2
68634015351. 3



68634015352. 4

Question Number : 38 Question Id : 6863403877 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
- gl By AT T 8
B 1: 30 WHUH D1 37 § il g @1 b o @1 31g dcb bl HIdl DI g4 Ui

BYA IT: DR HIJed G@HIe Agord [R=1ef § gyl Yfig1 o0 $3- & de-le & 3R 34 UOR R
0 H oHl &l 5|

SWRIad HYA & HTdid 4., i U U faeedi § ¥ Tad Suged SR &1 90 $ITaU:
1. YT AR 11 ST Tl &
2. HYF 1 AR 11 T Tad §
3. PYF 1 el 6. dlihd HYF 11 7TAd &

4. BYT [ 7Ted, AfpT PUT I TR &

Options :

68634015349. 1
68634015350. 2
68634015351. 3
68634015352. 4

Question Number : 39 Question Id : 6863403878 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Proteins are complex organic nitrogenous compounds.

Statement IT: Proteins are made up of 16 different amino acids, of which 7 are essential amino acids.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement IT are true

2. Both Statement I and Statement II are false

3. Statement I 1s correct but Statement II is false

4, Statement I is incorrect but Statement II is true

Options :
68634015353. 1



68634015354. 2
68634015355.3
68634015356. 4

Question Number : 39 Question Id : 6863403878 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RS sy RRumuE:
HU I UidH Sifed olfdss Agerami aifia g
U I1: UIeH 16 faftra sEfi=1 st T 94 81d 8. fomd O 7 sifaard srfi=r sra g1

SWRIe Y & 3fclid 4, 1< fGU T [depedl § ¥ Had SUqad SR &1 99 B I13U:

1. Y1 AR IS 9el §

2. HYF 1 AR 1 EHI Tad &

3. FYT 196l 6. dfpT U 1 Tad §

4. YT T, AT PUT I TR &

Options :

68634015353. 1
68634015354. 2
68634015355. 3
68634015356. 4

Question Number : 40 Question Id : 6863403879 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Steps of food passage track

A. Mouth

B. Esophagus
C. Stomach
D. Abdomen
E. Intestine

Choose the correct answer from the options given below:

1. C—=D—E—A—B

[ ]

.B—C—=D—E—A
3. D—-C—B—A—E
4 A-B—C—D—E

Options :

68634015357. 1
68634015358. 2
68634015359. 3
68634015360. 4

Question Number : 40 Question Id : 6863403879 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UG 70 U & g
A.Td9
B. UL
C. IR

D. T8l
E. 3fid

- f4u U fasedl § ¥ 91 IR &1 994 Hifeiu:

1. C—=D—E—A—B
2. B—=C—D—E—A
3. D—-C—B—A—E
4 A—-B—C—D—E

Options :

68634015357. 1

68634015358. 2

68634015359.3
68634015360. 4



Question Number : 41 Question Id : 6863403880 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Vitamin A I |Scurvy
B. [Vitamin C II. |Goitre
C. [lodine III. [Night Blindness
D. [lron IV, JAnaemia

Choose the correct answer from the options given below:

1. A-III, B-1. C-1I. D-IV

| )

A-IL B-1IL, C-1, D-IV
3. A-I. B-IV, C-III. D-II
4. A-IV. B-11. C-I, D-III

Options :

68634015361. 1
68634015362. 2
68634015363. 3
68634015364. 4

Question Number : 41 Question Id : 6863403880 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 1 gt 11 9 faH Sife
TqAT T T I

A e A 1. [&pdl

B. [[derdd ¢ 1. [Tgc

c. [smfea 111 [Rate

D. |3 V. [e-ifma

FfaRad o eal © O 98l SR &1 994 SIfou

1. A-IIIL B-1. C-I1. D-IV

|

 A-IL B-IIIL, C-1. D-IV
3. A-L. B-IV. C-III. D-II
4. A-IV, B-I1, C-1, D-III

Options :

68634015361. 1

68634015362. 2
68634015363. 3



68634015364. 4

Question Number : 42 Question Id : 6863403881 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Maslow hierarchy is:-

1. Self-actualization. physiological. safety. Belonging. Esteem

(B

. Safety, Self-actualization. Belonging, Esteem, Physiological

[F5]

. Safety. Physiological Belonging. Esteem. Self Actualization
4, Physiological. Safety. Belonging. Esteem. Self-Actualization

Options :

68634015365. 1

68634015366. 2

68634015367. 3
68634015368. 4

Question Number : 42 Question Id : 6863403881 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AR QO] g
1. 3TH-URGIUTA, IRRFb AT, Y&, T6e, I
&1, SA-uRgular, Hey, §rH. TRRIBaES
RET. IRRIpAT®, HaY, M, HTH-Rguiar

4. RRRIPYTATD, YR&T. Tael, T, 3e-uRyguiar

| )

L

Options :

68634015365. 1
68634015366. 2
68634015367. 3
68634015368. 4

Question Number : 43 Question Id : 6863403882 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion (A) and the other is labelled as Reason (R)

Assertion A: Human living standards can be compared in different countries by HDI.

Reason R: HDI consists of mean years of schooling. Real GDP per capita and adult literacy rate.

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A

3. Ais true but R is false

4. A is false but R is true

Options :

68634015369. 1
68634015370. 2
68634015371. 3
68634015372. 4

Question Number : 43 Question Id : 6863403882 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=19 5l T ST B UF SIS UT (Assertion A) & 0 # i@ & o g8 99& HRUI (Reason R) & 8T H:
STUHYT A: HDI GRT A= <=0 & Od Sila W=l 31 Ja1 &1 o Fadl! 5|

SO R: HDI 71y faeyerdt fRian au, Uit oafda arafde Siisidl #fR g% HiaRdl &3 | e a4l |
SWRIdd &Y & el H, -id feU fawmedl o U 98 3ugdd 3Rk &1 98- BHifad

1. ARREA T8I € AR R, A DI Jel ARST &

A SRR S el €. b R, A T UE cured g &
ATEIE AT R TR TS ©
AT TS AT R T E

Options :

68634015369. 1
68634015370. 2
68634015371. 3

[

L¥ ]

s



68634015372. 4

Question Number : 44 Question Id : 6863403883 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The primary toxin responsible for Neurolathyrism in humans when Lathyrus seeds are consumed

1. Beta Oxalyl Amino Alanine
2. Mono Oxalyl Amino Alanine
3. Alpha acetate Amino Anino Alanine
4. Mono acetate Amino Alanine

Options :

68634015373. 1

68634015374. 2

68634015375. 3
68634015376. 4

Question Number : 44 Question Id : 6863403883 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YL dioll 1 IuGH fbU S IR AFal § ZRIGYRRS & e e Wy i g:
1, deT Sfiaqrgd Sl Yerg-
T SATFAE ST TS
3T TEICe SHHI UG
I THIE S e

Options :

68634015373. 1
68634015374. 2
68634015375. 3
68634015376. 4

| )

[#%]

=

Question Number : 45 Question Id : 6863403884 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following vitamins are not water soluble

1. Niacin

[

. Thiamine

L]

. Tocopherol

4. Pantothenic acid

Options :

68634015377. 1
68634015378. 2
68634015379. 3
68634015380. 4

Question Number : 45 Question Id : 6863403884 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFafafad & S g oo § goqeia 761 6
1. farE=
feranfers
 ClDThRId
4. Uerf e 3t

Options :

68634015377. 1
68634015378. 2
68634015379. 3
68634015380. 4

| )

s

Question Number : 46 Question Id : 6863403885 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Time interval between diagnosis by early detection and diagnosis by other means is:-

1. Incubation period

[ B

. lead time
3. Senial interval
4. Latent period

Options :
68634015381. 1



68634015382. 2
68634015383.3
68634015384. 4

Question Number : 46 Question Id : 6863403885 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R S gRI e 3R 395U gR1 e & &9 999 3iavd sgard -

1. Igad-3fare
2. Al (A1) 90y
3. H 3dd
4.7 gy

Options :

68634015381, 1

68634015382.2

68634015383.3
68634015384. 4

Question Number : 47 Question Id : 6863403886 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Tip of Iceberg refers to:-

1. Clinical Cases

]

2. Subclinical Cases
3. Parasite
4. Undiagnosed Cases

Options :

68634015385. 1
68634015386. 2
68634015387. 3
68634015388. 4

Question Number : 47 Question Id : 6863403886 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



foreit 521 a1 srfomg@yul ad & B1¢ few & %9 § Hafifa fear S g:-
1. AeI® A
. 3Y-AgIHe A
. TRoiat
4. IS A
Options :
68634015385. 1
68634015386, 2

68634015387. 3
68634015388. 4

[

L]

Question Number : 48 Question Id : 6863403887 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Period between the entry of organism in the host and appearance of signs and symptoms is called:-

1. Period of communicability

. Latent period

2

¥ 5]

. Prepatent period

=y

. Incubation period
Options :

68634015389. 1
68634015390. 2

68634015391.3
68634015392. 4

Question Number : 48 Question Id : 6863403887 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Sita 3 Ao B w39 au fagl oik Tl & vee 819 & o9 &1 990 Seard o
1. ROl I 3y
T 3fafe
 Uidde sty
. Fga-3Aafe

[

L]

=S

Options :
68634015389. 1



68634015390. 2
68634015391.3
68634015392. 4

Question Number : 49 Question Id : 6863403888 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Prevalence of disease 1s estimated by :-
1. Case control study
2. Cross sectional study
3. Cohort study
4. Randomized trial
Options :
68634015393. 1
68634015394. 2

68634015395.3
68634015396. 4

Question Number : 49 Question Id : 6863403888 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fert T BT ISl BT TP [PaP gRI a1 Jdl 8-

1. BT FaF0 e

| )

 PIY-UaRHT Hema

g (PIEIC) e
4. Gref=s® Td

L

Options :

68634015393. 1
68634015394. 2
68634015395. 3
68634015396. 4

Question Number : 50 Question Id : 6863403889 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion (A) and the other is labelled as Reason (R)

Assertion A: Growth chart is designed for longitudinal followup (growth monitoring) of a child.

Reason R: Growth chart 1s a visible display of child's physical growth and development.

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A

3. Ais true but R is false

4. A is false but R is true

Options :

68634015397. 1
68634015398. 2
68634015399. 3
68634015400. 4

Question Number : 50 Question Id : 6863403889 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-9 3 U AU §: TP SMTHYUT (Assertion A) & ¥U H ARG § ol GERT 39 BRI (Reason R) & Y T
HTUPYA A: (G4l aF BT HFAES UHA-adl SHSRI (GG 4N & 718 31G are g/ Sa o |
BRI R: GG 91 910 & ARG 3G 3R G o1 =9 veH Feum g
IR HYA & 3AdD |, i feu fdeed] T 9 380 Iugad IR &1 99 Hifoly

1. A SR R 3 961 € AR R. A DI Jel AR §

2. A SRR S T &, AP R, A ) el e Al ©
3. AGEI & AT R IS TR §
4 AT TR APIR TS E

Options :
68634015397. 1



68634015398. 2
68634015399. 3
68634015400. 4

Question Number : 51 Question Id : 6863403890 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Culture is defined as:-

A Discipline that deals with the study of human society.

B. Learned behaviour. which has been socially acquired.

C. Transfer of values and customs from one group to another.

D. Culture 1s a way of life that takes very long. to develop even centuries.
E. Scientific study of organisation and behaviour of group of human beings.

Choose the most appropriate answer from the options given below:
1. B, C and E only
2. A, D, E and C only
3.D.C.E and A only

4. B and D only

Options :

68634015401. 1
68634015402. 2
68634015403. 3
68634015404. 4

Question Number : 51 Question Id : 6863403890 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tpid Pl foodt T T TR T ST 8-

A. TT9 TS & g ¥ Hafid Hem.

B. GER, S WIS ¥4 9 SHfofd a1 S &,

C. Tegl 3R UYT3f &1 U T8 I g8 H g&IiaxUl.

D. Tpfa Sfia o @1 €, ot foesfia 87 o aga dar 9, g81 o & warfsaar adt 2.
E. 16 &1 aq1@ S0 SR H1-d S| &1 AR,

4t fau U fowmedl O gad Tt 3R &1 904 S

1. PgAB. C IRE
2. PaAd A D.E3RC
3.HaAD. C.E IR A
4. HIAB ARD

Options :

68634015401, 1

68634015402. 2

68634015403. 3
68634015404. 4

Question Number : 52 Question Id : 6863403891 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In an outbreak of cholera in a village of 2000 population, 20 cases have occurred and 5 have died. Case fatality
rate 1s:

4. 25%

Options :

68634015405. 1
68634015406. 2
68634015407. 3
68634015408. 4

Question Number : 52 Question Id : 6863403891 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



2000 ST AT o T1Td H gl & URWhIe & GIR1F 20 HIHS WA MU S 04T 5 Hid 85 & | HIHeT Gl
wE:

1. 1%

[ )
=
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h
)
o

4, 25%

Options :

68634015405. 1
68634015406. 2
68634015407. 3
68634015408. 4

Question Number : 53 Question Id : 6863403892 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Randomized controlled trial is a type

1. Descriptive study

2

. Case Control study

5]

. Experimental Study
4, Cohort study

Options :

68634015409. 1
68634015410. 2
68634015411. 3
68634015412. 4

Question Number : 53 Question Id : 6863403892 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Orefws® AT U [5us U WoR §
1. [aeRuaE® e

HTHAT O SeaE

[ ]

WO S HegTE

L]

4. HE (PIEIC) HETT

Options :



68634015409. 1
68634015410. 2
68634015411. 3
68634015412. 4

Question Number : 54 Question Id : 6863403893 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Common cold is caused by
1. Pseudomonas sp
2.E. Coli
3. Influenza virus

4. Streptococcus

Options :

68634015413. 1
68634015414. 2
68634015415. 3
68634015416. 4

Question Number : 54 Question Id : 6863403893 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YR T &8 GRI B 5

RUSIEIEEAE]

g @i

. SORIUST dTERH

4. KPPy

Options :

68634015413. 1
68634015414. 2
68634015415. 3
68634015416. 4

oy

| )

L

Question Number : 55 Question Id : 6863403894 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Most commeon mode of transmission of noso comial infection is:-

1. Direct contact

b2

. Mechanical
3. Air borne

4. Fomite borne

Options :

68634015417. 1
68634015418. 2
68634015419. 3
68634015420. 4

Question Number : 55 Question Id : 6863403894 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 DITEUE hHUT & R0 DT Had Y=ed 24 6-
1. Fesf H9d

Titd®

g §d

Y S

| )

[#5]

=S

Options :

68634015417. 1
68634015418. 2
68634015419. 3
68634015420. 4

Question Number : 56 Question Id : 6863403895 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is a waterborne disease?

A. Cholera

B. Tuberculosis
C. HIV/AIDS
D. Leptospirosis
E. Giardiasis

Choose the most appropriate answer from the options given below:

1. A. B and C only

[ ]

.A. D and E only
3.C.D and E only
4.B.C.D and E only

Options :

68634015421. 1

68634015422. 2

68634015423. 3
68634015424. 4

Question Number : 56 Question Id : 6863403895 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafad 5 9 oY Jaaad I g2

A ROl
B. qUlc®

C. T34l TSy
D. PRI
E. Semfeaiia
=i feu 70 f[daredl O Uad ol 3R &1 9494 BIaig:
1. HATA. B AR C
2. $GAA. D IRE
3. H3d C.D ARE

4. PGAB. C.D AR E

Options :

68634015421. 1
68634015422. 2
68634015423. 3
68634015424. 4



Question Number : 57 Question Id : 6863403896 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One 1s labelled as Assertion (A) and the other is labelled as Reason (R)

Assertion A: Most effective strategy to combat Covid-19 infection 1s by applying preventive measures and
vaccination.

Reason R: Covid 19 1s caused by viral infection.

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R 1s NOT the correct explanation of A

3. Ads true but R is false

4. A is false but R is true

Options :

68634015425. 1
68634015426. 2
68634015427. 3
68634015428. 4

Question Number : 57 Question Id : 6863403896 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



19 &1 YA AU &: U MTHYT (Assertion A) & U H IR © ol GERT 39 BRI (Reason R) & ¥ 1
SHTUBUT A: HITS 19 HHHU AFUM B G FHTA! IUHIT AHUH FUE 3R S0 aF] B ¢
PRI R: FAS 19 TR GHHU S HROT Il 8|

IR HYA & 3AdD |, i feu fdeed] T 9 380 Iugad IR &1 99 Hifoly
1. AR R T8I € 3R R. A D! Jol AR §

2. A SRR S T &, AP R, A ) el e Al ©

3. AGEI & AT R IS TR §

4 AT TR APIR TS E

Options :

68634015425. 1
68634015426. 2
68634015427. 3
68634015428. 4

Question Number : 58 Question Id : 6863403897 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Web of causation for Myocardial infarction

A. Stress

B. Emotional disturbance leading to increased blood pressure (hypertension)
C. Changes in walls of arteries may causes coronary occlusion

D. Myocardial Infarction

E. Myocardial Ischaemia

Choose the correct answer from the options given below:

1. B—A—D—E—C
2. A—-B—-C—=E—-D
3. C—=B—=D—=E—A
4. D—-C—B—A—E

Options :

68634015429. 1

68634015430. 2

68634015431.3
68634015432. 4



Question Number : 58 Question Id : 6863403897 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T gk g

A, d@
B. UGS a3y o ¥ad 9¢dl & (39 Iaddr)
C. Y- @1 TRadl H URad- 3 HeIYHT SfaR1e 39 8l 9odl o

D. HegacdR ad
E. JEGR aUlou

el faU U faP el © 9oy 981 3R &1 98- Bifet:

1. B—A—D—E—C

2. A—-B—-C—E-D
3. C—=B—D—E—A
4 D—C—B—A—E

Options :

68634015429. 1
68634015430. 2
68634015431. 3
68634015432. 4

Question Number : 59 Question Id : 6863403898 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
| Anopheles Mosquito | 1. Japanese Eucephalitis

A edes Mosquito II. PMalavan Filariasis
Culex Mozquito I11. MMalaria

MNMansonoids mosquito] IV [Dengue

o ow[»

Choose the correct answer from the options given below:

1. A-I. B-II. C-IV, D-III

| )

A-IV, B-III, C-II. D-1
3. A-III B-IV. C-1. D-II
4. A-I. B-I1, C-III. D-IV

Options :

68634015433. 1

68634015434. 2
68634015435.3



68634015436. 4

Question Number : 59 Question Id : 6863403898 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 1 1 gl 11 9 fiar Sifen

T 1 T I
e Y | 1 [SuEl §ER
LEEEET IL. (e By
Ao TR |1 [aRaR
AR EE Fey IV BT

fFafaRad foseal § O 981 STR &1 994 Sifo

1. A-I. B-II. C-IV, D-III

ofafw]>

2. A-TV. B-111. C-T1. D-I
3. A-IIL B-IV. C-1, D-1I
4. A-I. B-I1. C-II, D-IV

Options :

68634015433. 1

68634015434. 2

68634015435.3
68634015436. 4

Question Number : 60 Question Id : 6863403899 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion (A) and the other is labelled as Reason (R)

Assertion A: Dengue virus are arbovirus.
Reason R: Dengue virus have 3 serotypes.

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A

3. Ais true but R is false

4. A is false but R is true

Options :
68634015437. 1



68634015438. 2
68634015439.3
68634015440. 4

Question Number : 60 Question Id : 6863403899 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

:ﬂiiEflaaiFTfaTITHI%i

HYF I: ST AT IRE] AR © |

HYF IL: ST IRY & 3 R T |

SIRIT Y & 3fTaid 1, A9 4T T faeedl § ¥ Ia SUad SR &1 99 & 11I0;
1. BYA I R 11 &I Tel ©

2 HYFI ARSI Tad &
3. PYF 19l 8. AT YT 1 TEd §

4 PYTITTEd. AP HYT I 98l §

Options :

68634015437. 1
68634015438. 2
68634015439. 3
68634015440. 4

Question Number : 61 Question Id : 6863403900 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion (A) and the other is labelled as Reason (R)
Assertion A: Q fever is caused by Borrelia burgdorferi

Reason R: Made of transmission of Q fever includes inhalation of infected dust. Aerosol transmission and
direct contact.

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A

3. Ais true but R is false

4. A is false but R is true

Options :

68634015441. 1
68634015442. 2
68634015443. 3
68634015444. 4

Question Number : 61 Question Id : 6863403900 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-9 3 U AU §: TP SMTHYUT (Assertion A) & ¥U H ARG § ol GERT 39 BRI (Reason R) & Y T

STUTUT A: T (Q) T SR TSR gRI 8l 8
PRI R: T (Q) SR TR0 & ATl § Gepfird oo F Ty oF1, Wi TR0 3R U Jud A 2
SR HY & 3fdid 1, A AU [deed! # ¥ Tad SUqad SR &1 997 Sl

1. A SR R I 961 8 AR R, A D! 98] URAT §

2. A SRR S T &, AP R, A ) el e Al ©

3. AGEI & AT R IS TR §

4 AT TR APIR TS E

Options :



68634015441. 1
68634015442. 2
68634015443. 3
68634015444. 4

Question Number : 62 Question Id : 6863403901 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Secondary attack rate refers to:-
1. Severity
2. Fatality
3. Infectivity
4. Commicability
Options :
68634015445. 1
68634015446. 2

68634015447.3
68634015448. 4

Question Number : 62 Question Id : 6863403901 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fecias gurd g &1 3l -
1. u=didigdr

| )

K BIGE|

. HehIHBdl

L

4. 8 egal

Options :

68634015445. 1
68634015446. 2
68634015447. 3
68634015448. 4

Question Number : 63 Question Id : 6863403902 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Foe which of the following diseases the toxoid 1s used to achieve immunization for:-

1. Measles

b2

. Diphtheria

3. Cholera

e

. Whooping Cough

Options :

68634015449. 1
68634015450. 2
68634015451. 3
68634015452. 4

Question Number : 63 Question Id : 6863403902 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafeiaa o ¥ &9 I & R Siaigs o7 UaiT HfcR&m Uid &= & e féar Sirar -
1. IR
fewdifaar
gl
PR @rT

Options :

68634015449. 1
68634015450. 2
68634015451. 3
68634015452. 4

| )

[#5]

=

Question Number : 64 Question Id : 6863403903 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A teaching hospital is a facility at

1. Frontline healtheare level

(B

. Primary healtheare level

3. Secondary healthcare level

=y

. Tertiary healthcare level

Options :
68634015453. 1



68634015454. 2
68634015455.3
68634015456. 4

Question Number : 64 Question Id : 6863403903 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS AT SR 59 TR &1 W SauTd gaur g

1. T Thedlg- ey ST &1

[ ]

WU WrRd SEHTE TR
fadios wreg cEyd ©)
TP Wy GEH TR

L]

e

Options :

68634015453. 1
68634015454. 2
68634015455. 3
68634015456. 4

Question Number : 65 Question Id : 6863403904 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Epidemiological triad consists of:-
1. Agent. Host. Environment
2. Agent. Antigen. Environment
3. Risk factor. Host, Environment
4. Chemical Hazard, Risk factor, Environment
Options :
68634015457. 1
68634015458. 2

68634015459.3
68634015460. 4

Question Number : 65 Question Id : 6863403904 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AU E-IaTE [dss! Hae §9dl 8-
4. HAEH TR, SIEH PR, Gaaz0l

a—y

[

L]

Options :

68634015457. 1
68634015458. 2
68634015459. 3
68634015460. 4

Question Number : 66 Question Id : 6863403905 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The correct definition of "eligible Couple" is:

1. A couple who 1s ready to undergo sterilization

[ )

. A couple giving birth to two children

L]

. A couple with wife in reproductive age group (15-45 year)
4. A couple having two living children

Options :

68634015461. 1
68634015462. 2
68634015463. 3
68634015464. 4

Question Number : 66 Question Id : 6863403905 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"3ED SIS B FEl URHIT g

1. STHI0 BIAH BT IR Sl1S]

[ )

. &l g1 ol O &4 arel SISl
3. USHA 3 H (15-45 98) § el arell Sirel

4. 31 Siifdd STae] are Sis]

Options :



68634015461. 1
68634015462. 2
68634015463. 3
68634015464. 4

Question Number : 67 Question Id : 6863403906 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Triage consists of rapidly classifying the injured on the basis of the severity of their injuries and
the likelihood of their survival with prompt medical intervention.

Statement IT: Triaging should start from emergency department of the hospital.
In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement II are true

2. Both Statement I and Statement II are false

3. Statement I 1s correct but Statement IT is false

4, Statement I is incorrect but Statement II is true

Options :

68634015465. 1
68634015466. 2
68634015467. 3
68634015468. 4

Question Number : 67 Question Id : 6863403906 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



:ﬂ%aﬁﬂmﬁﬁﬂt{%

Y I: TS & 3fTId 91! B 351 dic] DI aigdl (raddn) & AR IR 3R afea gxay I 396
ofiF @1 UG & YR R ot F aFifepd fasar Srar g |

Y 11: UG AT & SHTUTdRTE f[GUFT 9 P2 gl 1igu]
SRS B & 3l 1, A 4T 7 faeedl § ¥ I SUad SR &1 99 B 11I0;
1. DY 3R 11 ST TeT &

2 BYT1 IR 11 G Tad §

3. FYTI eI 8. AfPT FYF 1 TTad ©

4, PYT 1T, AP HYT I 98l §

Options :

68634015465. 1
68634015466. 2
68634015467. 3
68634015468. 4

Question Number : 68 Question Id : 6863403907 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion (A) and the other is labelled as Reason (R)

Assertion A: Hypertension is an 'Teeberg' disease”.
Reason R: Only about half of hypertensive subjects in general population are aware of the condition.

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

b2

. Both A and R are true but R 1s NOT the correct explanation of A

3. Ais true but R is false

4, A is false but R is true

Options :

68634015469. 1
68634015470. 2
68634015471. 3



68634015472. 4

Question Number : 68 Question Id : 6863403907 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 31 U AU §: U JUHYT (Assertion A) & U H [ARId ¢ ol GERT 3HD BRI (Reason R) & oY 1
SfUHYT A: 3= Iqdard U fgHLid AT 8l

PRI R: YH S0 H 3= Y19 4 UlTSd S5 &l dhad T8 4T &l 59 [l & Uid SiTed

|

SWRIGd HUA & aAiD H, A [0 [deed] H 9 I8 39gad 3R &l 994 dIfoig
1. A 3R R I T € 3R R, A B! Jel oIReAT &

| B)

A JRR I e §. AP R, A T TE SR T ©

3. ATEI & Afb R TS el §

4 AT TR T APTR TS E

Options :

68634015469. 1
68634015470. 2
68634015471. 3
68634015472. 4

Question Number : 69 Question Id : 6863403908 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LIST I1
A |Germ Theory of Dizease 1. |Variola Virus
B. [National AIDS Control Programme| 1. [1987
C. |Father of Public Health IT1. L ouis Pasteur
D. |Causative organism of Small pox | IV. [John Snow

Choose the correct answer from the options given below:

1. A-III. B-II. C-1. D-IV

| ]

AL B-I1, C-IV, D-1

3. A-IL. B-III. C-IV, D-I

4. A-I1. B-111. C-1. D-IV



Options :

68634015473. 1
68634015474. 2
68634015475. 3
68634015476. 4

Question Number : 69 Question Id : 6863403908 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 1 1 = 11 9 faH Sife

gl 1 T 1
A R @1 wie] Heia L [a it fa=
B. ¥ ugy Hoam s®y | 1L 1987
C. [die TRy & fadr il SERICH
D. [dddh &1 HRU M-y Sid | V. [§H F
frrafelad faseal & 3 98l IR @1 991 BT -

1. A-III. B-II. C-1. D-IV

| o

A-IIL B-I1L C-IV, D-1
3. A-II, B-III, C-IV. D-I
4. A-I1. B-1II. C-1. D-IV

Options :

68634015473. 1
68634015474. 2
68634015475. 3
68634015476. 4

Question Number : 70 Question Id : 6863403909 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Referral System in NLEP

A District Hospital

B. District Nucleus

C. Reconstructive Surgery Center
D.PHC

E. Sub center

Choose the correct answer from the options given below:

1. A-B—C—D—E
2. E—=D—C—B—A
3. E=D—A—-B—-C
4 A-B—-C—E—-D

Options :

68634015477. 1
68634015478. 2
68634015479. 3
68634015480. 4

Question Number : 70 Question Id : 6863403909 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TS YR Huredt

A, fore srgara
B. o=
C. oIS Yl &g
D. PHC
E 3U-0%
4t fau U fomedl O gad Tt 3R &1 99 Bifoi:

1. A-B—C—D—E

b2

. E—=D—C—B—A
3. E-D—A—-B—-C
4. A—=B—C—=E—D

Options :

68634015477. 1
68634015478. 2
68634015479. 3
68634015480. 4



Question Number : 71 Question Id : 6863403910 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Steps of development of children

A, Foetus

B. Neonate

C. Infant

D. Toddler

E. Adolescent

Choose the correct answer from the options given below:

1.E-A—-B—C—D

[ ]

. A—B—-C—D—E
3. E=D—=C—=B—A
4. C—=D—E—B—A

Options :

68634015481. 1
68634015482. 2
68634015483. 3
68634015484. 4

Question Number : 71 Question Id : 6863403910 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a4 [G®H1g & =R

=l f3U U faPedl © 9oy 981 3R &1 98- BHife:

1. E——A—B—C—D

| ]

. A—=B—-C—=D—E
3. E—=D—-C—-B—A
4, C—=D—E—B—A
Options :

68634015481. 1
68634015482. 2



68634015483.3
68634015484. 4

Question Number : 72 Question Id : 6863403911 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Main Component of communication as process

A. Sender
B. Message
C. Channel
D. Receive
E. Feedback

Choose the correct answer from the options given below:

1. E-A—-B—C—D
2. B—=A—-C—D—E
3. B—A—=D—C—E
4 A—-B—-C—D—E

Options :

68634015485. 1

68634015486. 2

68634015487.3
68634015488. 4

Question Number : 72 Question Id : 6863403911 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U Uikl & TY H FAR (U9 & G- FUHT

A US®
B. Tyl
C. qreayq
D. AT dl

E. Hiqgi

=i fau 70 f[deredl ¥ 9ad Jol U= &1 994 BIag:

1. EA—-B—C-—D
2. B—=A—-C—D—E
3. B—A—-D—C—E
4 A-B—-C—D—E

Options :



68634015485. 1
68634015486. 2
68634015487. 3
68634015488. 4

Question Number : 73 Question Id : 6863403912 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Modes of interventions

A. Rehabilitation

B. Disability limitation

C. Specific Protection

D. Health Promotion

E. Early diagnosis and treatment

Choose the correct answer from the options given below:
1. D-C—E—-B—A
2. E—»C—-D—>B—A
3. E—=D—(C—A—B
4. C»D—E—B—A

Options :

68634015489. 1
68634015490. 2
68634015491. 3
68634015492. 4

Question Number : 73 Question Id : 6863403912 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR & ¥ (H1H)
A gAalY
B. TeogiTar diftgarn
c. fafRm dxeu

D. WA UIegT
E. 3Tl a1 3R 9U=R

=l f3U U faPedl © 9oy 981 3R &1 98- BHife:

1. D—-C—E—B—A

2.E—-C—=D—B—A
3. E—=D—-C—A—B
4 C—D—E—B—A

Options :

68634015489. 1
68634015490. 2
68634015491. 3
68634015492. 4

Question Number : 74 Question Id : 6863403913 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Steps in plannimg cycle
A. Assign priorities amongst problem
B. Define programme objectives
C. Plan implementation of mtegrated programme

D. Connect data, analysis and reach to a result
E. Formulate Health Problem

Choose the correct answer from the options given below:

1. E—=D—(C—B—A
2. B—=C—=D—=E—A
3. E—=A—-B—C—D
4. C—=A—D—B—E

Options :

68634015493. 1

68634015494. 2

68634015495.3
68634015496. 4



Question Number : 74 Question Id : 6863403913 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
faTer =sh & =0T

A, HHT H Qe darsii & siided

B. BIUohH o2l @l fafAfey o

C. UBIPd BIUDH B BAI-aTH HUIfSTd Bl
D. STeT [g=eIy0] T Ui 3R YR d& Ugd
E. Wy gaw et

Oy

i fau 0 f[daredl O el Il 3R &l 90 Bifoig

1. E=D—-C—=B—A

[ ]

.B—C—D—E—A
3. E—=A—-B—-C—D
4, C=A—-D—B—E

Options :

68634015493. 1

68634015494. 2

68634015495. 3
68634015496. 4

Question Number : 75 Question Id : 6863403914 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion (A) and the other is labelled as Reason (R)

Assertion A: Neonatal screening 1s primarily a secondary level of prevention.
Reason R: Least common neonatal disorder to be sereened is Neonatal Hypothyroidism

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R 1s NOT the correct explanation of A

3. Ais true but R is false

4, A iz false but R is true

Options :

68634015497. 1
68634015498. 2
68634015499. 3



68634015500. 4

Question Number : 75 Question Id : 6863403914 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 31 U AU §: U JUHYT (Assertion A) & U H [ARId ¢ ol GERT 3HD BRI (Reason R) & oY 1
ATUBYT A: TaoId R wird WUEF IR UF [Gdad W B AGUH § |

BRI R: TG4 HH Sid] o ara Faeld 27%] e R Tawid 2] seuraizgiEsd g

SWRITd BYF & di® 1, 4 AU [deedl # 9 Ie Sugad SR &1 99 S

1, A 3R R T 8T € SR R, A B! JeI IR &

2. A 3R R S & E, AT R. A T Tl AR TSI &

3. ATEI S AfbH R TS el §

4. AW eI € i R WET ©
Options :
68634015497. 1
68634015498. 2

68634015499. 3
68634015500. 4

Question Number : 76 Question Id : 6863403915 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion (A) and the other is labelled as Reason (R)

Assertion A: Increased institutional deliveries lead to decrease maternal mortality
Reason R: ISY led to increased institutional deliveries

In the light of the above statements. choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R is NOT the correct explanation of A
3. Ais true but R 1s false

4. A is false but R is true

Options :



68634015501. 1
68634015502. 2
68634015503. 3
68634015504. 4

Question Number : 76 Question Id : 6863403915 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 31 U AU §: U JUHYT (Assertion A) & U H [ARId ¢ ol GERT 3HD BRI (Reason R) & oY 1

STUBYT A: TRFTG UHdl B gadl S92 4 O1g g ¥ Sl 311dl g
PRI R: GlUHdTs 4 SN W94l § deladl g5 o
SRIGd HUA & diD H, A AU [dwed] § 9 I8 39gad 3R &l 99 dIfoill
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—

| E)
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AYGE ¢ AP R TS S ©

[#5]

4 AT TR T APTIR TS E

Options :

68634015501. 1
68634015502. 2
68634015503. 3
68634015504. 4

Question Number : 77 Question Id : 6863403916 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Surveillance is

A. It 1s one time observation

B. It 1s interrupted observations

C. Continuous scrutiny of occurrence of disease

D. Essential for prevention and control

E. Provides information on evaluation of any disease control programme

Choose the correct answer from the options given below:

1. A+B+C

[ ]

. B+C+D
3. C+D+E
4. D+E+A

Options :

68634015505. 1
68634015506. 2
68634015507. 3
68634015508. 4

Question Number : 77 Question Id : 6863403916 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3%au (FARF) &

A, T8 ST Y& B

B. T¢ S1d H&UT 3 | _

C. XA & "ied B B FR=R FIRESE

D. Jd ey 3R M0 & forg sifand

E. [ardil IFT FEa01 S1deH & Hebicd & g | =1 UaH 1 o

e 34U U faeedl © 9oy 9ol SR &1 99 Bife;

1. A+B+C

b2

. B+C+D
3.C+D+E
4.D+E+A

Options :

68634015505. 1
68634015506. 2
68634015507. 3
68634015508. 4



Question Number : 78 Question Id : 6863403917 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Human Development Index (HDI) includes the following indicators

A. Life expectancy at Birth

B. Adult literacy Rate

C. Real gross domestic product

D. Infant Mortality Rate (IMR)

E. Maternal Mortality rate (MMR)

Choose the most appropriate answer from the options given below:

1.A.B.C.D.E only

2

.A.B. Conly
3.B and C only

4. C.D and E only

Options :

68634015509. 1
68634015510. 2
68634015511. 3
68634015512. 4

Question Number : 78 Question Id : 6863403917 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

O e qEaie (aersms) ¥ Fafafad gae wite &

A. O & FHY g Frn
B. 9% W& <X

C. AR Hebdl Uxe] IATG
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E. HIq 7] aX (THUHSR)

9 fau T fiweal @ 998 el TR &1 994 B
1. 94U A.B.C.D,E

. $dUu A, B.C

3.%adB AR C

4.9 C.D ARE

| ]

Options :
68634015509. 1



68634015510. 2
68634015511. 3
68634015512. 4

Question Number : 79 Question Id : 6863403918 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Continuous variable include

A. Serum Cholesterol
B. Blood Pressure

C. Height

D. Rash in Measles
E. Itching

Choose the most appropriate answer from the options given below:
1.E. D and C only
2.B.E and C only
3.A. B and C only

4. A D and E only

Options :

68634015513. 1
68634015514. 2
68634015515. 3
68634015516. 4

Question Number : 79 Question Id : 6863403918 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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B. ¥k ald

C. &%
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1. $AAE. D R C
2. $ad B.E 3R C
3. P A BARC
4. %I A.D ARE

Options :

68634015513. 1
68634015514. 2
68634015515. 3
68634015516. 4

Question Number : 80 Question Id : 6863403919 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Disease caused by mosquitos

A Malaria

B. Dengue

C. Chikungunya

D. Japanese encephalitis
E. Kala Azar

Choose the correct answer from the options given below:
1.A C.D.E only
2. A B.CandD only
33A.B.C.E
4.B.C.D.E
Options :
68634015517. 1
68634015518. 2

68634015519.3
68634015520. 4



Question Number : 80 Question Id : 6863403919 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TE5R1 GRT WId AT &:

A TRifen

B. 37

c. e
D. S §E8R
E. DIl 3R

el faU U faP el © 9oy 981 3R &1 98- Bifet:
1.$d A.C.D.E
2.%ad A B. C 3R D
3. P40 A, B.C.E
4. $4ddB.C.D.E

Options :

68634015517. 1
68634015518. 2
68634015519. 3
68634015520. 4

Question Number : 81 Question Id : 6863403920 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Infant mortality is a most sensitive and reliable indicator of health status of a country or
geographical area.

Statement IT: Infant mortality rate 1s used to assess the PQLI and HDI

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement II are correct

| )

. Both Statement I and Statement II are incorrect

3. Statement I is correct but Statement II is incorrect

4. Statement I 13 incorrect but Statement IT is correct



Options :

68634015521. 1
68634015522.2
68634015523. 3
68634015524. 4

Question Number : 81 Question Id : 6863403920 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR HERumE:

o 1= 79 <R e 3w a1 o & &t e fRyd &1 98 Saeia SR faye-ia 3u@ B
DY IT: T Jg S IYGNT pQUI 3R HOI BT ST S H [hal o1l &

SIS BYH & ATclld 1, A< 34U U fdsedi T I 9a Iugad SR &1 99+ Sl

1. YT AR GH T8I &

2. HYTI AR I S Tad &

3. FYT Il 8. AfPT Sy I Tad §

4. YT 7T0d, AP PUT I TR &

Options :

68634015521. 1
68634015522. 2
68634015523. 3
68634015524. 4

Question Number : 82 Question Id : 6863403921 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Population covered by PHC is:-

1. 10-20000

2

. 7-8000
3. 20-30000
4. 40-50000

Options :
68634015525. 1



68634015526. 2
68634015527.3
68634015528. 4

Question Number : 82 Question Id : 6863403921 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PHC §RT ST=sliGd S8 %:

1. 10-20000

| )

. 7-8000
3. 20-30000
4. 40-50000

Options :

68634015525. 1
68634015526. 2
68634015527. 3
68634015528. 4

Question Number : 83 Question Id : 6863403922 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Primordial Prevention is:
1. Action taken prior to the onset of disease
2. Action that halts the progress of a disease
3. Prevention of emergence of development of risk factors
4. Action taken to remove the possibility that a disease will ever occur
Options :
68634015529. 1
68634015530. 2

68634015531. 3
68634015532. 4

Question Number : 83 Question Id : 6863403922 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634015529. 1
68634015530. 2
68634015531. 3
68634015532. 4
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Question Number : 84 Question Id : 6863403923 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"DALY™ stands for:

—

. Daily Assessment life Years

[ B

. Disability Adjusted life years

LF¥]

. Disability Assessment life years
4. Daily Adjusted Life years

Options :

68634015533. 1

68634015534. 2

68634015535. 3
68634015536. 4

Question Number : 84 Question Id : 6863403923 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
"DALY" &1 YT A1 &:
1. SHI W ARP 504
2. Tewufafee vsoes aew g9
3. Tequlefeet sRgde A sud
4. S0 USSR WIS 509

Options :



68634015533. 1
68634015534. 2
68634015535. 3
68634015536. 4

Question Number : 85 Question Id : 6863403924 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In which year extended programm on Immunization (EPI) was launched in India:

1. 1989

[ )

. 1978
3.1974
4. 1985

Options :

68634015537. 1
68634015538. 2
68634015539. 3
68634015540. 4

Question Number : 85 Question Id : 6863403924 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YRd ¥ [ auf [awdried STl ey (sUlsis) T (el 717 Ur:

1. 1989

| )

. 1978
3.1974

4, 1985

Options :

68634015537. 1
68634015538. 2
68634015539. 3
68634015540. 4

Question Number : 86 Question Id : 6863403925 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Definition of 'Health' as defined by WHO is:
1. Health 1s a state of complete physical. mental and social well being.
2. Health 1s an absence of disease or infirmity.

3. Health 1s state of complete physical. mental and social well-being and not merely an absence of disease
or infirmity.

4. Health 1s a state of complete physical and mental well being.

Options :

68634015541. 1
68634015542. 2
68634015543. 3
68634015544. 4

Question Number : 86 Question Id : 6863403925 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WHO g1 GRHIlT e & gyt & g

1. W gul YRR, IS SR 9His® dgasl of [l g1
2. TR I AT B BT AU B

3.§m%ﬁﬂﬂm$ﬁaﬁﬁq@ﬁﬁaﬁﬁqﬁmﬁﬁﬁ O SR AHS® agasl of [&ld
[

4. TRy gUf IRIRS 3R AFRE dead) o [Rufd g1

Options :

68634015541. 1
68634015542. 2
68634015543. 3
68634015544. 4

Question Number : 87 Question Id : 6863403926 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Life cycle of Malaria Parasite in human host's RBC's

A. Merozoites enter into RBCs after Exoerythrocytic multiplication in liver.
B. Ring trophozoite forms.

C. Mature trophozoite develops immature schizont.

D. Mature schizont release merozoites.

E. Merozoites released into blood stream and cause fever.

Choose the correct answer from the options given below:
1. E—=D—C—B—A
2. A—-B—-C—D—E
3. E=A—-B—-C—D
4. C-B—A—-D—E

Options :

68634015545. 1
68634015546. 2
68634015547. 3
68634015548. 4

Question Number : 87 Question Id : 6863403926 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
O O9eH & AR § Ooiiar gReiid] @ g =9

A. TP T TaHIE UIHIEic® gg70F & dl Jdieiged

B. 90g ClUGge &d g |

c. aRu® Snige i v § fgaid siar gl

D. ORUS (o< TRISNgeH o Pl g

E. IRIG52H 350 dligd | § SIS 9ld & 3R o 3¢9 P o

el f3U U faP el © 9ad Je1 SR &1 98- Bifeg

1. E—=D—C—B—A

| ]

. A—=B—-C—=D—E
3. E-A—-B—C—-D
4 C—B—A—D—E

Options :

68634015545. 1
68634015546. 2
68634015547. 3
68634015548. 4



Question Number : 88 Question Id : 6863403927 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LIST II

A |scamtanan: 1 Sc1ler.1ce @d Ef'LlT of preventive disease p.r-a?lmigmg life and promoting health and

efficiency through organised community efforts.
: C,Dm.t_numtj.' Penlonied II. |Disease prevention, Health transformation and study of man as social being.
programme

C. [Winslow CEA II1. |Bring about a social and economic change in village through villager's effort.

D. [Health by WHO v A state of complete .phf.'smal: mental and social well being and not merely absence
of disease or infirmity.

Choose the correct answer from the options given below:
1. A-IL, B-I11. C-1. D-IV
2. A-IL B-III. C-IV, D-I
3. A-IIIL B-1I, C-1. D-IV
4. A-IV. B-1, C-III. D-II

Options :

68634015549. 1
68634015550. 2
68634015551. 3
68634015552. 4

Question Number : 88 Question Id : 6863403927 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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T 1 T
T FHET U GR1 I &I
, [FEf® ;[T Sfia o qur T
s ' %‘%gwaa:raﬂwa%‘r{

T IFTUTH, = Ui 3R
B. EH?[ CEau I B eI Uil & %4 H 7144 &1
SEnE

Tt o WA I T |

c [fGgaa sy | nn [amEfes $R enfde ufada
SIGI

thdd AT 1 HHI B SO
WHO BRI v [FR T afew qof
EEGREARRIG]

frafafad fowel 5 I 96t S| &1 994 DI -

1. A-II, B-I1I. C-1. D-IV

2. A-IL B-III. C-IV, D-I
3. A-II1. B-11. C-1. D-IV
4, A-IV, B-1, C-III. D-II

Options :

68634015549. 1
68634015550. 2
68634015551. 3
68634015552. 4

Question Number : 89 Question Id : 6863403928 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTIT
A |Descriptive 1. |Bhopal Gas tragedy is example
B. [Point source epidemic| II. |Prophylactic administration of Vitamin A in a child
C. |Specific Protection | II1. |Aspects of epridemiology deals with distribution of Disease
D. [Year 1981 IV, |Global strategy for health for all formulated and adopted by WHA

Choose the correct answer from the options given below:

1. A-IV, B-II, C-III. D-I

| ]

AL B-1, C-IV, D-11
3. A-III, B-1, C-II, D-IV
4. A-I. B-III. C-II. D-IV

Options :

68634015553. 1
68634015554. 2
68634015555. 3
68634015556. 4

Question Number : 89 Question Id : 6863403928 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 9 o Sifey
A1 I
A [[qaunass 1. [H1OTe 31 e SameRu |
B. [&did fa HemR]| I [fodl = @1 [d2iiEH A I0-HR1e® o1
C [ WReo |11 RF1 & a0 J Yeitd SHuiGe - (99 & Jad
D. [a¥ 1981 IV. [wHA BRI 184 31 3itlidhd Fad 1e1U Wb di%d 01
frafaRad foeed & 3 98t TR &1 991 DI

1. A-IV. B-II. C-III. D-I

| o

CA-IILL B-1L C-IV, D-I1
3. A-IIL. B-1, C-II. D-IV
4. A-1. B-III, C-I1, D-IV

Options :

68634015553. 1
68634015554. 2
68634015555. 3
68634015556. 4



Question Number : 90 Question Id : 6863403929 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following programmes is not a programme of the Ministry of Health and Family welfare:

A. Integrated Child Development Services (ICDS) programme

B. National Vitamin A Prophylaxis Programme

C. National Nutrition Mission (Poshan Abhiyan)

D. National programme for prevention and control of Flurosis (NPPCF)
E. Balwadi Nutrition programme (BNP)

Choose the most appropriate answer from the options given below:

1. B. C and D only

| )

.C.D.Aand E only
3.A.D.Band E only
4. A.C and E only

Options :

68634015557. 1
68634015558. 2
68634015559. 3
68634015560. 4

Question Number : 90 Question Id : 6863403929 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafeied & § o S H Wy 3R URaR el B30 &l HshH T8 ¢

A, TS 1od a1d [aem HaTt (1CDS) ddeH

B. faerfiq A RIS sdea

C. Ty fE2= (90T SEmE)

D. IR JHUTH 3R 9701 HEHH (NPPCF)
E. §Taars! 90 HTdsH (BNP)

i 3T U faeedl © 9oy 9ol SR &1 99 BifeL;
1. $a B. C R D
2.$ad C.D. A JRE
3.%aAA.D.B 3RE
4. PAAAC ARE

Options :
68634015557. 1
68634015558. 2



68634015559. 3
68634015560. 4

Question Number : 91 Question Id : 6863403930 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:-

Statement I: Generation time 1s the time required for 50% of cases to occur.

Statement IT: Serial interval i1s the gap in onset between primary case and secondary case.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement I are true

2. Both Statement I and Statement II are false

3. Statement I is true but Statement II is false

4. Statement I is false but Statement IT is true

Options :

68634015561. 1
68634015562. 2
68634015563. 3
68634015564. 4

Question Number : 91 Question Id : 6863403930 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A a1 By T U &:
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1. B AR 1 ST TR T

2. BYT1 IR 11 ST Tad &

3. FYTITel 8. AfPT FYF 1 TTad ©

4, PYTITTE. AP HYT I 98l §

Options :

68634015561. 1
68634015562. 2
68634015563. 3
68634015564. 4

Question Number : 92 Question Id : 6863403931 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

India's indigenous COVID-19 vaccine by Bharat Biotech in developed in collaboration with-

1. Department of Science & Technology

[

. Indian council of Medical Research (ICMR)-Centre for cellular and Molecular Biology

LF%]

. National Institute of Immunology (NII)
4. Indian council of Medical Research (ICMR) National mstitute of Virology (NIV)

Options :

68634015565. 1
68634015566. 2
68634015567. 3
68634015568. 4

Question Number : 92 Question Id : 6863403931 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634015565. 1
68634015566. 2
68634015567. 3
68634015568. 4

Question Number : 93 Question Id : 6863403932 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Lead poisoning in industries commonly occurs by:

1. Ingestion

2

. Skin absorption

3. Inhalation

4, Conjunctival route
Options :
68634015569. 1
68634015570. 2

68634015571.3
68634015572. 4

Question Number : 93 Question Id : 6863403932 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :



68634015569. 1
68634015570. 2
68634015571. 3
68634015572. 4

Question Number : 94 Question Id : 6863403933 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following i1s a measure of soiling index

1. Noise Pollution

2. Soil Pollution

Lad

. Water Pollution

4. Air Pollution

Options :

68634015573. 1
68634015574. 2
68634015575. 3
68634015576. 4

Question Number : 94 Question Id : 6863403933 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
[FafcEd I & o =91 igfchT SSa &1 H1® ©
3 FegE
 Hal UgNul
. Siel Hguul
- A HgHUI

Options :

68634015573. 1
68634015574. 2
68634015575. 3
68634015576. 4
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Question Number : 95 Question Id : 6863403934 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Observational study does not include:

A. Field Tral

B. Cross Sectional Study
C. Cohort Study

D. Clinical trial

E. Case Control Study

Choose the most appropriate answer from the options given below:
1. A and D only
2.B.Cand E only
3. C.E and A only

4. B and E only

Options :

68634015577. 1
68634015578. 2
68634015579. 3
68634015580. 4

Question Number : 95 Question Id : 6863403934 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Yeale 3 O gittfed 98 @

A Tl erd

B. ®IU-UREd A&
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=i feu 70 f[daredl O Uad ol 3R &1 9494 BIaig:
1. $ad A SR D
2. PaAB.C 3R E
3.%dd C.E 3R A
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Options :

68634015577. 1
68634015578. 2
68634015579. 3
68634015580. 4




Question Number : 96 Question Id : 6863403935 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following 1s used to determine the sample size in survey research

1. p-value
2. Statistical Power
3. Statistical significance
4. Standard error

Options :

68634015581. 1

68634015582. 2

68634015583.3
68634015584. 4

Question Number : 96 Question Id : 6863403935 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634015581. 1

68634015582. 2

68634015583. 3
68634015584. 4
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Question Number : 97 Question Id : 6863403936 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Odds ratio 13 derived from:-

1. Case Control study

[

. Cohort study
3. Cross sectional study

4. Randomized trial

Options :

68634015585. 1
68634015586. 2
68634015587. 3
68634015588. 4

Question Number : 97 Question Id : 6863403936 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634015585. 1
68634015586. 2
68634015587. 3
68634015588. 4

Question Number : 98 Question Id : 6863403937 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Diagnostic power of the test is reflected by:-
1. Sensitivity
2. Predictive Value
3. Precision

4. Population at risk

Options :
68634015589. 1



68634015590. 2
68634015591.3
68634015592. 4

Question Number : 98 Question Id : 6863403937 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TRi&U B A1 Wi fead grR1 wiafdfed sidl :
1. FdeT=itadr
2. GaHHTdr 9]

3. aRgsdr

4. SIIRGH WUl 98]

Options :

68634015589. 1
68634015590. 2
68634015591. 3
68634015592. 4

Question Number : 99 Question Id : 6863403938 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Relative Risk (RR) 1s used to estimate risk of disease with exposure to a factor.

Statement II: RR is of importance to clinician, whereas population attributable risk (PAR) is of importance to

public health manager and epidemiologist.

In the light of the above statements. choose the correct answer from the options given below

1. Both Statement I and Statement IT are true

2. Both Statement I and Statement IT are false

3. Statement I is true but Statement II 1s false

4. Statement I 1s false but Statement I is true
Options :

68634015593. 1
68634015594. 2



68634015595.3
68634015596. 4

Question Number : 99 Question Id : 6863403938 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634015593. 1
68634015594. 2
68634015595. 3
68634015596. 4

Question Number : 100 Question Id : 6863403939 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
- WVitamin Bl (Thiamaus) I [Kwashiorker Disease
Vitamin D II. |Berber
Protein II1. |Rickets
. [VitamunB3 (NIACIN) | IV. |Pellagra

ol Fo] o] g

Choose the correct answer from the options given below:

1. A-IV, B-I1I. C-II. D-I

| ]

CA-IL B-II, C-II1, D-IV
3. A-IL. B-III. C-IV, D-I
4. A-I1. B-111. C-1. D-IV

Options :

68634015597. 1
68634015598. 2
68634015599. 3
68634015600. 4

Question Number : 100 Question Id : 6863403939 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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cA-L B-II. C-III, D-IV
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. A-IL B-III. C-IV. D-1
4. A-I1. B-1II. C-1. D-IV

Options :

68634015597. 1
68634015598. 2
68634015599. 3
68634015600. 4



